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1. With reference to G20 grouping, consider the following statements 

1. India is the host for the 19th G20 summit. 

2. The first G20 Summit took place in Washington DC in 2008. 

3. The theme for the 2023 summit is ‘Our Common Future in a Post-Pandemic Earth’. 

4. The G20 summit is being held for the first time in India as well as in South Asia. 

Which of the above statements are correct? 

(A) 1, 2 & 3 only           (B) 1 & 3 only  

(C) 2 & 4 only      (D) 1, 2, 3 & 4   

(E) Answer not known 

G20           ,                         

1. 19    20                      . 

2.     G20           2008           DC         . 

3. 2023                     '                            

               '        . 

4. G20                                                    . 

                       ? 

(A) 1, 2 & 3          (B) 1 & 3      

(C) 2 & 4           (D) 1, 2, 3 & 4  

(E)              

 

2. What is ‘Mission Arikompan’ recently seen in the news? 

(A) An afforestation program undertaken by the Telangana government  

(B) A PPP model for infrastructure development undertaken by the Karnataka government  

(C) A mission by the Kerala forest department to capture a wild elephant  

(D) A mission of Defence Ministry to provide ancillary naval vessels to INS Arihant 

(E) Answer not known 

                     ‘            ’          ? 

(A)                                                 

(B)                                                      PPP 

     

(C)                                    

(D)                                               

            . 

(E)              

 

3. With reference to Organisation of Islamic cooperation (OIC), consider the following statements 

1. It was established in 1969 in Jerusalem. 
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2. Its headquarter is in UAE. 

3. All its 57 members are also members of the United Nations. 

Which of the above statements are correct? 

(A) 1 & 2 only      (B) 2 & 3 only  

(C) 1 & 3 only      (D) 1, 2 & 3 

(E) Answer not known 

                     (OIC)            ,                 

        

1.    1969                     . 

2.              UAE        . 

3.     57                                            . 

                       ? 

(A) 1 & 2           (B) 2 & 3       

(C) 1 & 3           (D) 1, 2 & 3 

(E)              

 

 

4. With reference to the Arab league, consider the following statements 

1. It is a regional organisation of Arab states in the Middle East, founded in 1945. 

2. It has 22 member states 

3. It is headquartered in Saudi Arabia. 

4. India is currently an observer in the grouping. 

Which of the above statements  are correct? 

(A) 1, 2 & 3 only     (B) 1, 3 & 4 only  

(C) 1, 2 & 4 only     (D) 1, 2, 3 & 4 

(E) Answer not known 

                     ,                         

1.    1945                                                . 

2.     22                 

3.                               . 

4.                                   . 

                       ? 

(A) 1, 2 & 3          (B) 1, 3 & 4       

(C) 1, 2 & 4           (D) 1, 2, 3 & 4 

(E)              

 

5. The system of Inner line permit (ILP) does NOT exist in— 



TNPSC APRIL - 2023 
DAILY CURRENT AFFAIRS CLASS TEST – 13 

 

                                                                                    www.vetriias.com  
 

1. Arunachal Pradesh  2. Nagaland  3. Mizoram    4. Manipur 

5. Lakshadweep Islands 

Select the correct option using the code given below: 

(A) 3 & 4 only      (B) 4 & 5 only  

(C) 5 only      (D) None of these  

(E) Answer not known 

             (    )                        - 

1.                2.          3.        4.       

5.          

                                                

           : 

(A) 3 & 4          (B) 4 & 5       

(C) 5           (D)             

 E               

 

6. With reference to the Directorate of Enforcement (ED), consider the following statements: 

1. Under the Conservation of Foreign Exchange and Prevention of Smuggling Activities Act, 

1974 (COFEPOSA), this Directorate is empowered to sponsor cases of preventive detention 

with regard to contraventions of Foreign Exchange Management Act. 

2. ED has been given the responsibility to conduct investigation into suspected contraventions 

of foreign exchange laws and regulations. 

Which of the statements given above is/are correct? 

(A) 1 only      (B) 2 only  

(C) Both 1 and 2     (D) Neither 1 nor 2  

(E) Answer not known 

                (ED)            ,                        : 

1.                                                   , 1974 

(COFEPOSA)      ,                                         

                                                           . 

2.                                                       

                              ED               . 

                                /        ? 

(A) 1           (B) 2       

(C) 1      2         (D) 1      2      

(E)              
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7. With reference to the Conditions for Recognition as a National Party, consider the following 

statements: 

1. If a party is recognised as a state party in four states. 

2. If a party wins two per cent of seats in the Lok Sabha at a general election; and these 

candidates are elected from three states. 

Which of the statements given above is/are correct? 

(A) 1 only       (B) 2 only 

(C) Both 1 and 2      (D) Neither 1 nor 2 

(E) Answer not known 

                                       ,                 

       : 

1.                                                . 

2.                                                         ; 

                                                      . 

                                /      ? 

(A) 1           (B) 2       

(C) 1      2          (D) 1      2      

(E)              

 

8. Which of the following are the objectives of International Monetary Fund? 

1. Foster global monetary cooperation 

2. Secure financial stability 

3. Facilitate international trade 

4. Promote high employment and sustainable economic growth 

5. And reduce poverty around the world 

6. Macro-economic growth 

Select the correct answer using the code given below: 

(A) 1,2,3,4 and 5 only     (B) 2,3,4,5 and 6 only  

(C) 1,3,4,5 and 6 only     (D) 1,2,3,4,5 and 6 

(E) Answer not known 

                                           ? 

1.                              

2.                       

3.                          

4.                                                     

5.                                 

6.       -                
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                                                        : 

(A) 1,2,3,4      5         (B) 2,3,4,5      6       

(C) 1,3,4,5      6         (D) 1,2,3,4,5      6 

(E)              

 

9. JUICE (JUpiter ICy moons Explorer) Mission is being launched by which of the following? 

(A) European Space Agency  

(B) National Aeronautics and Space Administration  

(C) Indian Space Research Organization  

(D) Japan Aerospace Exploration Agency  

(E) Answer not known 

JUICE (JUpiter ICy moons Explorer)                        

            ? 

(A)                      

(B)                                    

(C)                           

(D)                       

(E)              

 

10. With reference to the term ‘Rare diseases’, consider the following statements: 

1. A rare disease is a health condition of low prevalence that affects a small number of people. 

2. 80% of rare diseases are genetic in origin. 

Which of the statements given above is/are correct? 

(A) 1 only      (B) 2 only  

(C) Both 1 and 2     (D) Neither 1 nor 2 

(E) Answer not known 

'            '                  ,                        : 

1.                                                       

                 . 

2. 80%                               . 

                                /        ? 

(A) 1           (B) 2        

(C) 1      2          (D) 1      2      

(E)              
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ANSWER KEY 

 

 

1 2 3 4 5 

C C B C D 

6 7 8 9 10 

A C D A C 

 


